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NOTE: - Write same question number - ULy S b»/:z»%}lrw{dt’qu 0¥

and its part number on answer book, as given in the question paper.

SECTION-| Q:LA’

2. Attempt any five parts. 10=2x5 ~Efe 2l dS 2 )
() What is the difference between Reactants and Products? -t T@J}y’gcu‘rs:{ A ol (D)
Give example,
(i)  Define Chemical Equilibrium State. ~E e EASEIEL i
(i}  What represents the large value of K¢, for a reaction? T J/},a‘y’d,éu’f g rekaSad Ke der 'dzd/ (iii}
{v) Write two characteristics of ireversible resctions. - e (i)
(v} State Arrhenius concept of Acids and Basis. - AN N ()
(vi) Define Neutralization SRR )
(vil) Name two Acids used in the manufacturing of Fertilizers, .Jn; Sl W LS S (il
(viii) Define pH. What is the pH of pure water? e pHEG s AL P (i)
3. Attempt any five parts. 10=2x5 .;{,f,;mérylégc.df 34
() Define Heterocyclic Compounds with one example EP AN, JJ/“uzifu'vﬁ{V’/ ()
(u)  Write two uses of Organic Compounds. @ 5;/.,uwm..,k$y’.é (i)
(i) Define Functional Group with one example Ob . &l ey JfL(rJJ’g (i)
(iv) Give two uses of Methane and Ethane, /\9 . J.xwm.. & ()
(v) Differentiate between Saturated and Unsaturated Hydrocarbons./ (@) - LdAs PN o B (W)
(Vi) Wrtie the difference between Ghee and Oit ? j JALY ‘A‘f (vi)
(vii) Are the Piants Source of Oils? Explain GQ/ el STy (il
(viii) Write formulae of Stearic Acid and Palmitic Acid ¢. é‘).nw.w-,v o S (i
4. Attempt any five parts. 10=2x5 Hevelonbie & a4 )y
(i) How Ozone Layer is formed in Stratosphere? e P Ll By i)
(i) How CO, is responsibie for heating up atmosphere? tededanel pidAco, ()
(i) How is Acid Rain formed? e At (i
{iv) What is Capillary Action? S‘;_my’a’ftd/{ (iv)
(v) How addition of Na2C03 removes 5‘5_ 3::.'»_‘_"1}5 MM{\{J&GL/\J"[ N32003 (v)
permanent hardness of Water?
(vi)  Write the names of raw materials needed for manufscturing Urea. EERR M Lty )
(vii) What is meant by Anode Mud? S npde (Mud) 2 581 (viiy
(viil) How is CO, prepared in the Solvay's Process? Ve Jz,&g:c.’ €O, LUy sl (vii)
SECTION-II fsseo
NOTE: - Attempt any two questions. -5{/’:«&&&90%&&/ -

5{A) Statethe Lawof Mass Action. § e twgbe-{ A r/LHE A0 KRG BSOS AP ASTE ()5
How Chemical Equilibrium Canstant i is helpful in prediction of extent of reaction?

(B) Write the uses of any four Acids. 4 -, ;ﬁ;u&g’h’—iur_d/ (&)
6.{A)  Write down five physical properties of Alkenes. 5 -.;’a.-.yr‘o‘-*é,g‘f (Alkenes) ;ﬂ" (.8
(B) Wrte down four uses of Carbohydrates. 4 LWL ALK (L)
7.(A) Define Urea. Describe three stages of its manufacturing. 5 ~FENPALL S S e 3 Al g (.7
(B) Define Hard Water and asio write its three disadvantages. 4 SR BLL g A (L)
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Note: You have four choices for each objective type question as A, B, C and D. The choice -..{/3.)’);:.-. Ny~
which you think is correct, fill that bubble in front of that Question number. On bubble sheet, use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in Zero mark in that question. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded
n case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 A4
(1) For the reaction, eI A Ll 24, + 8, ===3C, (1)
2+ B ==3C,,  the expression for the equilibrium constant is-
2 v C]‘
(a) (24102} g) 141°(B] ¢ _13¢1 [
) [3C] ©) cy [24][B] © (4] B)
2} In an irreversible reaction dynamic equilibrium:- -',!-',f'f 1S b'b‘ufufgld;v‘fiw (2)

{A) Never establishes :'::J.'-;f 3&’-( (B) Establishes be&;e the completion of reaction g.ﬂ.mff F%;Ln‘)‘u": i
(C) Establishes after the compietion of reaction g..r.e(lf% iyy‘{ I (D) Establighes readily G,ﬂ_mfﬁ'ﬁ:,‘(

(3) ____ acidis found in Sour Milk, 7a . & Fhib il _ut,,,,z.xg (3)
(A) Citic > (B) Formic <é (C) Lactic 9?0 (D) Uric iy

4] Dilute acids react with Carbonates to Sl A7y ”;)PL.’C‘I.UJH:;,%’JJHET. (4)

produce the given products except- 6’O’

(A) Salt & (B) Water 35 (C) Carbondioxide 1’&/’7&:0.;.;6 %D) Hydrogen u’wf{ :

(5) Main component of Natural Gas is- w2idls
() Methane 2 (B Propane G (C)Butane by (D) Propene ¢

(6] ___ s asaturated Hydrocarbon <o ()
(A) ¢ H, (B) A, € c,u, D) c.H,

(7) About 50 % of the dry weight of cellis made up of - -kl SOKUBL FBLE )
(A) Carbohydrates '_.511_5511( (8) Lipids =J/¥  (C)Proteins = ;fc':{ (D) Vitamins < 4y .

(8) Photosynthesis process produces:- -+§:J'K7f:’} (8)
(A) Starch &k (B) Celluiose i#%  (C)Sucrose ¥ (D) Glucose ¥

(9) ____Is=secondary pollutant w9
(A) SO, (B) Co, (C) cH, (D) HCe

(10) At4°C the maximum density of water is:- .‘L(:(QJIJ‘L}:_NL)JJH 4o (10)
(A) 1gem™ (B) 2gem™ (C) 3gem™ (D) 4gem™

{11) Temporary hardness of water can be removed by adding:- .q.tyg’JG&Jg{_CL/ﬁ}/f}MdJS& (1)
(A) Limestone  A¥_  (B) Siaked fime t2iwi¥  (C) Quick lme tgfe! (D) Washing soda 1iv i

(12} Bailing range of Gasoline or Petrol is:- .gé;ﬂizg,@:,&guﬁ'r[ (12)

{A) 8010 170%C (C) 170 10 2509C (C) 250 to 350°C (D) 350 to 400°C
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NOTE: - Write same question number - Ly SR GE MAZAHJVW‘QKQR oY

and its part number on answer book, as given in the question paper.
SECTION-l JiLe

2. Attempt any five parts. 10=2x5 S fe il 8 20y
()  Define Active Mass and give its units. R ALSNESAS AL )
(i)  Whatis meant by Dynamic Equilibrium State? e Ve M EATEIE )
(B) I which direction reaction wil proceeds if Qg < Ko? Qe < Ko Afferlfis (i
{v) When Equiliorium Constant has no units? ST S AL LA ()
(v} Write the names of two Minaral Acids. -#&;MU}» (v)
(V) Write two uses of Calcium Hydroxide. s WL ST (i)
(vi)) How are the Salts named? tetebrte A (il
(vil) Define Double Salts and give an example, -4‘1}&.{10(5 SAIAL i)
3. Attempt any five parts. 10=2x5 .J(/.-.;uzéwégc_c]f 34
(i)  Define Heterocyclic Compounds ~EAOE ey )
(1) Whatis Coal Gas? Give one use of Cozl Gas. Q .JM’.—PUU'Q/ fq.!fu’{df (iiy
(i) What are two basic conditions for an element to %Z&;,,/Jw B L L LSk sk (i)
axhibit catenation? N
7 5 e 2
(v) Write two physical properties of Alkynes. \S\/’ .é}/.swﬁc’ﬂ' (v)
(v) Define Substitution Reaction. O/) ESAGLLE ()
(v} Define Amino Acids and write their general formula ‘Q -&Arawﬁfuux‘{f A (i)
(vii) Write two characteristics of Monosaccharides. -ﬁf{,;e«k:“mfﬁ"/')” (vii)
(viil} Differantiate between Essential Amino Acids and £ uy%zisvﬁ WEAAFNST (vill)
Non-assential Amino Acids
4. Attempt any five parts. 10=2x5 -ifﬁwélzl‘ge.df 44
(il What s Troposghere? Give its two characteristics bl e ()
(i)  Define Pollutants. 'ig—?/-\;ﬂ % (i)
{ill) Wnhat is Giobal Warming? el ¥ (i)
(iv) Describe two disadvantages of Detargents. ~E eIl S ()
(v} Whatis Leaching Process? Ul W)
(vl Wnat are Ores? a2l (vi)
(vi) Write two uses of Fuel Ol LS W FTNE (i)
(viii) Define Gangue. LAY (il
SECTION-Il /o
NOTE: - Attempt any two questions. el e tme S ud
5.(A) Write down five macroscopic characteristics of 5 S ARG SEASEITE (.5
Dynamic Equilibrium

(B) Explain the Lewis concept of Acids and Bases. 4 FE el S L it (L)
6.(A) Write any five sources of Alkanes. 5 £ Frr GylE (Akanes) # (e

(B) Write any four uses of Enzymes on commercial level 4 g w’myc.J/{Lg&?L/"% ()
7.{A) How Urea is manufectured? Explain with flow sheet diagram, 5 gl pRILAS te bl lPL A Ly (.7

(B) Explain foliowing diseases:- 4 -Eeobfudedie (L)

Typhold ¥&t (v)  Jaundice wis (i) Hepatitis """"'5" (i)  Cholera .31 (i)
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Note: You have four cholces for each objective type question as A, B, CandD.

.qf.'J'f,f.:.mr{.“er

The choice which you think is correct, fill that circle in front of that question number. Use marker or pen

to fill the circles, Cutting or filling two or more circl
many questions as given in objective type question

In case BUBBLES are not fillad.
Q.No.1

(1) Guidberg and Waage put forward Law of Mass Action in:-

(A) 2/ 1859 (B) <. 1868

(2) Inthe Lime Kiln, the reaction goes to completion due to:-

es will result in zero mark in that question. Attempt as

ey

Paper and leave others blank. No credit will be awarded

Do not solve question on this sheet of OBJECTIVE PAPER,

A Ay

= i‘uﬁ{'d\.ﬁ'ui..{ s ol Se
(D) 2/ 1889
-s--.vufé'—rfs)icf{ldzuﬁd’-fi--z;

(C) 21879

CaC0y ~——p C20 + CO,

(A) Of high temperature N7k

(3) i3 used for flavouring food,
(A) Acetic Acig L2 G
(C) Hydrochioric Acid 121 /%, 5}

{4) If aliquid has a pH of 7 then it must -

(A) Be a colourless and odourless (7S

(C) Be a solution containing water j,;—y’;‘}s

(5) Coal having 90 % Carbon contents is called -
(A) Peat v (B) Lignite i

(B) Cad ¥

|C)COzempescontinuously b S co,

(B) Benzoic Acig J/.:Q’
(D) Nitric Acid L4_(¥ Oé/

stable than CaCOy tn¥liic. CaCO, ¥ Ca0
%Q) Ca0 is not dissociated (*4:¥ a0

(o)

() - 2. Bar A
s T8 g R AT S

o) S pH =7 (G

%

(B) Be neutral 2

(D) Freeze at 0°C and boil at 100°¢ ¥ S Sing 100% gl 0°C

-t L AL Kk 90 2P
(C) Anthracite w7 (D) Bituminous g

(8) The reduction of Alkyl Halides takes place in wdntlend o Sl men v ue o
lhe presenceof.-  (A) Zn/HC (B) NasHC| (C) Mg/HCI (D) CWHCI

(7) catalyst is used for the Hydrogenation of Vegetable Ol .o ooy BTN L
(A) Al (B) Cu (C) NI (D) Po

i8) is @ Disaccharide. S T
(A) Glucose ¥ (B) Fructose ;37 (C) Sucrose s/ (D) Starch .t

(9) Justabove the Earth's Surface is - 5-Cogh P b
(A) Mesosphere #+r (B) Stratosphere 4b% 5 (C) Thermasphere 4397 (D) Troposphere Ayl

(10) The quantity of water fit for drinking on earth is - &SIl A Jgg;ﬁi
(A) 0.2 % (B)0.4 % (C)08 % (D) 0.8 %

(11) Temporary Hardness of Water is because of - = ch.,vJ " L!-Ja:ﬁfd&
(4) CalHCO,), (B1 CaCO, (C) MgcO, (D) MgsO,

(12) Matte is 3 mixture of - -;./,"- &
(A) FeS and Cus (B) Cuzo and FeQ (€) Cuzs ang FaS {D) CuS and FeD
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